; | ; | ; v

3 ] 2 ] 1
PARTS LIST
4@ ITEM QTY PART NUMBER DESCRIPTION
322.90 mm [12,713 in] . 1 2 M6600303 Bezel (Front/Rear)
/ Detall A 2 2 M6603033 Internal Chassis Panels
1 1 3 1 M6603105 Base Panel
Base I‘O . 4 1 M6603503 Vented Rear Panel
O’l @ 5 4 M6604003 10.5" Rack Mount Bracket
pd 6 2 M6604100 Support Runner
/ 5 7 8 M3x6émm CSK Screw Base Panel Screws
( § 8 4 M6600013 Front/Rear Trims
cj 9 6 M4 x 12mm Pan Screw Support Runner Screws
o o 'g‘ 10 8 M4x16 Screw Bezel Fixing Screws
£ 11 12 M3x8mm Pan Screw 10.5" Rack Bracket Screws
S 12 1 M6601003 Cover
§ 13 2 M6000040 Side Grip Handles
14 4 M5900035- 10.5" Panel Screw Kit (M6)
15 4 M6420106 Techno Feet
|'O Q. 16 8 M6420000 Clip for Trims

Side

Front
249.13 mm [9,808 in]
| 10.5" Rack Mount hole width
c
o
L | Ln m
£ - ~ ™ £
o £ - S :.I: <
N O o = N
™M D O > E -
w0, T m) - E ©,
c § O @ £
e © B g e
@ O o i
n O [] / £ E Lo
« = E o -
- S w—
NS
Rear panel 234.13 mm [9,218 in]
M4 earth stud Max width bketween 10.5"
rack ears

 N—
FIRST ANGLE PROJECTION
Designed by Description Date Scale
L Clark Technomet 10.5" RC103 (3U x 323 x 330mm) |20/08/2025

METCASE ENCLOSURES

15 Brunel Way, Segensworth East, Fareham,

MET www.metcase.com

i Part Number Issue Sheet
© OKW Enclosures Ltd (Date as shown). This drawing contains proprietary information of OKW Enclosures Ltd and is tendered subject to the following conditions. The information Hampshlre, PO15 5TX’ UK' M6610346
be retained in confidence, not be reproduced or copied, and not be used or incorporated in any product, unless permission is obtained in writing from OKW Enclosures Ltd. Tel: +44 (0)1489 583858 Email: sales@metcase.co.uk 1 1 / 2
3 | | 1

° | y | * N




6 | 5 | 2 | 1
308.00 mm [12,126 in]
266.10 mm [10,476 in] Depth between 10.5" rack mount brackets Top cover

Internal chassis
M4 earth stud

(Internal max. Front to back)

M4 earth stud

88.90 mm [3,500 in]

C-C

249.10 mm [9,807 in]

133.00 mm [5,236 in]
135.36 mm [5,329 in]
3U Clearance height

(@

P
w

202.90 mm [7,988 in]
Distance between support rails

280.00 mm [11,024 in]

234.10 mm [9,217 in]
Width between 10.5" rack ears
(case width)

6.25 mm [0,246 in]

Top of support rail to center
of bottom mounting hole

152.16 mm [5,991 in]
|

=

i

LN

LN

S,

£

S

o

o

Y

Notes:

— 1) Case is fabricated from 1.5mm aluminium sheet with die cast and extrusion bezel.
£ 2) Case is powder coat painted fine texture traffic white/traffic grey A RAL 9016/7042.
in 3) All parts have an M4 stud for earthing.
2‘ 4) Supplied with 4 colour matching Technofeet.
E’ 5) 10.5" rack brackets are fitted to the front and back.
g FIRST ANGLE PROJECTION
< Designed by Description Date Scale
3 P Ward Technomet 10.5" RC103 (3U x 323 x 330mm) |20/08/2025

© OKW Enclosures Ltd (Date as shown). This drawing contains proprietary information of OKW Enclosures Ltd and is tendered subject to the following conditions. The information
be retained in confidence, not be reproduced or copied, and not be used or incorporated in any product, unless permission is obtained in writing from OKW Enclosures Ltd.

METCASE ENCLOSURES

15 Brunel Way, Segensworth East, Fareham,

Hampshire, PO15 5TX, UK.
Tel: +44 (0)1489 583858 Email: sales@metcase.co.uk M6610346

MET www.metcase.com

Part Number

Issue

1

Sheet

2/2

5

7 ZF 3

1



